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Section- A
Q1. Read the passage given below. (10)

Our ancestors had great difficulty in getting books. Now, our difficulty is what to read. There
are books and books but our hours of reading are very few. Therefore, choice becomes
essential. We should be very careful about what we read. There are books which poison our
lives by suggesting evils. We should keep them at arm’s length.

We should read only those books which have stood the test of time. Such books are our
great classics like the Ramayana and the Gita. They contain the wisdom of our sages and
saints. They have appealed mankind from generation to generation. Reading of such books
has ennobling influence on our mind and character. It gives us spiritual enjoyment. These
books give us instruction with entertainment. They represent our ancient culture. They set
before us high ideals to follow. They are our best friends, best guides and the best treasure.

Answer the following questions on the basis of your reading. (5)
Q1. We should be selective because

(a) there is a great number of books available to us

(b) there is scarcity of books

(c) there are only bad books in the market

(d) none of the above.

Q2. We should avoid those books which

a) cost high price

(b) come in paperback

c) corrupt our lives by suggesting evils

(d) come in more than one volume




Q3. The books which have stood the test of time are called....
(a) great books (b) rare books (c) biographies  (d) classics
Q4. What is /are special quality/qualities of classics?
(a) They affect our mind in a good way
(b) They teach us something great and also entertain us.
(c) They help us in our spiritual growth
(d) All the above.
Q5. An expression in the passage which means ‘good effect’ is
(a) Spiritual enjoyment (b) Ennobling influence (c) high ideals (d) Very careful.
Q6. Fill in the blanks with suitable words. (4)

Our ancestors had great .......cccccecveenenne. in getting books. Now, our difficulty is what to
................ There are books and books but our ................. of reading are very few. Therefore,
................. becomes essential.

Q7. Which kind of books should we read and why? (1)

Section-B

Q2. Write a letter to your friend telling her/ him about how to overcome any difficult
situation. (5)

Q3. Write a descriptive paragraph based on your observations of nature around you. (5)

Section-C
Q4. Do as directed. (7)
a- The catjumped .................... the table. (Fill with a preposition)
b- Win- oo (Write the opposite)
(o | O rain today. (Fill it with a Modal Verb)
d- Whatyou taste (relish) -......cccooeveeereerecennnes (Write a sensory word)
e- Morsel....cveveieee e (Write the meaning0
f- He sanglike an angel. (Metaphor/ Simile) Tick the correct answer.
g- ‘Bravo’is an example of .......ccccecveeeceennnne. (conjunction/ interjection)
Section-D

Answer the following questions.
Q5. Why does the author believe that the sense of sight is the most wonderful? (3)
Q6. The poem 'Try again’ teaches us that failures are stepping stones to success. Explain. (3)
Q7. How did the river know so much about Jahnavi? (3)

Q8. “Can | do something?” asked Jahnavi. “Well, it’s up to you, “said the River. “Seems to me
little girls can do as much as little boys- they swim as fast as little boys. You just slip along



one morning and sit there in the school and listen to what’s going on, and maybe the
teacher will let you stay”. (4)

i) Complete

According to the River, there was no difference between girls and boys because
ii) True/False

The River encourages Jahnavi to have faith in herself and fulfil her desire to go to

school.
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Answer key of English

Sec-A

Ql.1a

2c

3d

4d

5b

6 difficulty, read, hours, choice (.5x4=2)

7 We should read only those books which have stood the test
of time. Such books are our great classics such as Ramayana
and Gita. ( 1 mark)

Sec-B

Q2. Accept all the correct responses. Award marks for format,
content, key points, closing and ending. (5 marks)




Q3. Award marks for the grammatically correct sentences(
should describe nature, sky, animals etc.) Award marks for
use of adjectives, sensory words, observation and coherent
structure with opening and closing sentences. (5 marks)

Sec-C

Q4. a- on/over/under (1 mark each)
b- lose

c- may/might
d-sweet/salty/sour/bitter etc

e- a small piece of food

f- simile

g- interjection

Sec-D

Q5.The author believes the sense of sight is the most
wonderful because it enables us to enjoy the beauty of
nature, read books, recognize people and things and learn
easily. ( 3marks)

Q6- The poem ‘Try again’ teaches us that failures are not the
end. They are stepping stones to success and we should not
give up. Each failure gives us a chance to learn and improve. (
3 marks)

Q7- The river knew so much about Jahnavi because it
observed her often. It saw how much she wanted to learn,
how she listened from outside the school, and how eager she
was to be educated. ( 3 marks)



Q8- i) According to the River, there was no difference
between girls and boys because they were equally capable in
swimming and learning. (2 marks)

i) True (2 marks)
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Section A

How many zeroes are there in one lakh?
a)5
b) 4
c)6
d)7

[1]

1lakh=___  thousands
a) 10,000

b) 1,000

c) 100

d) 10

[1]

The number 10,00,000 is read as:
a) Ten thousand

b) One crore

c) One lakh

d) Ten lakhs

[1]

Which number is equal to 10 million?
a) 10 lakhs

b) 10 crores

c) 1 lakh

d) 1 crore

[1]




The Indian system of numeration places lakh after:
a) Crore

b) Hundred

c) Ten thousand

d) Thousand

[1]

Which of the following numbers is smallest?
a) 800

b) 8 crore

c) 8lakh

d) 80,000

[1]

9,99,999 rounded to nearest lakh is:
a) 9,90,000

b) 1,00,000

c) 10,00,000

d) 9,00,000

[1]

1crore- 1lakh=7?
a) 99 lakhs

b) 99 thousand

c) 9 lakhs

d) 1 lakh

[1]

Assertion (A): All numbers with 5 zeroes are lakhs.
Reason (R): Zero count defines number size.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

d) A is false but R is true.

[1]

10

Assertion (A) : 1 crore = 10 lakhs.
Reason (R) : Crore is ten times a lakh.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) A is true but R is false.

[1]




d) A is false but R is true.

11

Round off 9,76,499 to the nearest:
1. Thousand
2. Ten Thousand

3. Lakh

[2]

12

Create a number that is equal to3 X 107 + 2 X 10° +5 X 10* + 7 x 10> + 9

[2]

13

Your school’s strength is 2,99,851. Approximate the number to the nearest thousand and
lakh. Which is more suitable for use in a speech?

[2]

14

Explain the pattern:
1x9+2=11
12x9+3=111
123 xX9+4 =7

[2]

15

Find the value of:
4, 111x 111
5. 1111x 1111

Observe and explain the pattern.

[2]

16

Find quick ways to calculate these products:
6. 4x625x25
7. 125x16x8
8. 5x2000x20

[3]

17

Read the following numbers, write their number names in both Indian and International
system:

9. 7030501
10. 120045678
11. 808000808

[3]

18

India’s population in a state is 8,67,45,230. Round it off to the nearest:
12. Thousand
13. Lakh

14. Crore

[3]

19

Write the value of:
. One crore in terms of thousands

. One lakh in terms of hundreds

[3]

20

Calculate these products quickly:

[4]




15. 25x48=__

16. 250x240=__

17. 125x32=__

18. 5x4000 =

19. X =25000000

21

A company made the following profits in five years:

e 31,24,35,678

X2,56,89,123

e %3,1298,650

e 26745012

e 31,89,00,000

20. Find the exact total

21. Estimate the total using rounding to nearest crore

22. Comment on the usefulness of approximation

[4]
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Answer Key
1 A 6 A
2 C 7 C
3 D A
8
4 D 9 C
5 C 10 [D

11 a. Thousand — 9,76,000
b. Ten Thousand — 9,80,000
c. Lakh — 10,00,000

12 .We will calculate the value of each term separately:
3x 107 =3 x1,00,00,000 = 3,00, 00,000
2x10°=2x1,00,000=2,00,000

5x10*=5x 10,000 = 50,000

7% 10%=7x 100 =700

9=9

Now, add all these values:

3,00,00,000 + 2,00,000 + 50,000 + 700 + 9 = 3,52,50,709

1 3 . Approximation to the nearest thousand: We are given: 2,99,851
To round off to the nearest thousand, we look at the hundreds digit, which is 8 (in

851).
- Since 8> 5, we round up.
2,99,851=3,00,000 (to the nearest thousand)



« Approximation to the nearest lakh:
To round to the nearest lakh, we look at the ten-thousand digit, which is 9 (in
99,851).
- Since 9> 5, we round up.
2,99,851=3,00,000 (to the nearest lakh)

Suitable for speech: Nearest lakh (for simplicity)
14. 1x9+2=9+2=11

12x9+3=108+3=111

123x9+4=?

123 x9=1107

1107 +4=1111

123x9=1107 > 1107 +4=1111

Pattern: Number of 1s equals the last
number added. So, the resultis a
number made of 1°’s - 11, 111, 1111, ...

15. a. 111 x 111 =12321
b. 1111 x 1111 =1234321

Pattern: Digits increase to the middle and then symmetrically decrease.

16. a. 625 x4 =2500
2500 x 25 = 62500
b. 125 x 8 = 1000
1000 x 16 = 16000
c.5x20=100
100 x 2000 = 200000
17. a. Indian Notation: 70,30,501
Indian System: Seventy lakh thirty thousand five
hundred one International System: Seven million
thirty thousand five hundred one
b. Indian Notation: 12,00,45,678
Indian System: Twelve crore forty-five thousand six hundred seventy-eight
International System: One hundred twenty million forty-five thousand six hundred
seventy-eight
c. Indian Notation: 80,80,00,808
Indian System: Eighty crore eighty lakh eight
hundred eight International System: Eight
hundred eight million eight hundred eight
18. a. Nearest Thousand: Look at the hundreds digit (2) — Remain same
= 8,67,45,000
b. Nearest Lakh: Look at the ten-thousands digit (5) — Add 1 to lakhs digit

= 8,67,00,000
c. Nearest Crore: Look at ten-lakhs digit (7) — Add 1 to crores digit



=9,00,00,000

19 a.1 crore =1,00,00,000
In thousands: = 1, 00, 00, 000 + 1,000 =1, 00, 000
b. 1 lakh =1, 00,000 thousands

In hundreds: = 1,00, 000 +~ 100 = 1, 000 hundreds

20.
a 25x48=(100 +4) x 48

= (48 x 100) + 4

= 4800 + 4 = 1200
b. 250 x 240

=25 x 24 x 100 = 600 x 100 = 60000
e 125 %32

= 1000 x (32 + 8)

= 1000 x 4 = 4000

5 x 4000 = 20000
4.2500 x 10000 = 25000000

21. a. Exact total =%1,24,35,678 +32,56,89,123 +33,12,98,650+32,67,45,012 +%1, 89,00,000
=311,50, 68,463
b. Approximation:
Round to nearest crore:
1 —1 crore
2.56 — 3 crore
3.12— 3 crore
2.67 — 3 crore
1.89 — 2 crore
Estimated total =<1+ 3 +3+3+2=3%12 crore
c. Usefulness: Approximation helps in decision making (like budgeting or funding),

while exact values are needed for accounting.
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Section A

A substance that does not change the color of either red or blue litmus paper is: [1]

a) Basic
b) Corrosive
c) Neutral

d) Acidic

Which of the following substances is acidic in nature?

a) Soap solution
b) Baking soda
c) Lime water

d) Vinegar

[1]

Which indicator turns red in a basic solution?
a) Phenolphthalein

b) Red cabbage

¢) Turmeric

d) Litmus

[1]

What is the function of a fuse in an electric circuit?

a) To prevent overloading

[1]




b) To store energy

c) To increase current

d) To generate electricity

5 | Which device is used to protect circuits from overloading? [1]
a) Battery
b) Bulb
c) Fuse
d) Switch
Section B
6 | List two natural indicators and their sources. 2]
7 | What is the effect of bases on red litmus paper? 2]
8 | What is the function of the filament in a bulb? [2]
9 | Explain the difference between an open and a closed circuit. [2]
10 | Why are switches made of plastic or rubber? [2]
Section C
11 | What is the significance of pH in agriculture? 3]
12 | How can you prepare a natural indicator at home? 3]
13 | Illustrate the role of a switch in an electric circuit. 3]
14 | What is the heating effect of electric current, and how is it utilized in household appliances? [3]
Section D
15 | What are acids and bases? Explain with two examples of each found in everyday life. [4]
16 | Draw a simple electric circuit consisting of a battery, a bulb, a switch, and connecting wires. Label all | [4]
components and explain how current flows when the switch is closed.
17 | State whether the given statement is True or False: [5]

1.
2.

Soap is acidic in nature.

Distilled water is a neutral substance.

The symbol for a battery in a circuit diagram includes multiple cells.
The positive terminal of a cell is marked with a minus ( - ) sign.

Conductors allow electric current to pass through them.
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2)

3)

4)

5)

7)

8)

9)

Answer Key

¢) Neutral
d) Vinegar
¢) Turmeric
a) To prevent overloading

c¢) Fuse

Bases turn red litmus paper blue. This color change indicates the presence of a basic (alkaline) substance,

which typically has a pH greater than 7.

The filament in a bulb heats up and glows when electric current passes through it. This produces light

due to the high resistance of the filament material, usually tungsten.

An open circuit has a break or gap, preventing electric current from flowing. A closed circuit forms a
complete loop, allowing current to travel through it. In a closed circuit, devices like lights or

motors operate, while in an open circuit, they do not function.

10) Switches are made of plastic or rubber because they are insulators. These materials do not allow

electric current to pass, thus protecting users from shocks and making electrical devices safe to operate.



11) pH is crucial in agriculture because it affects soil nutrient availability, plant growth, and microbial activity.
Soils with a pH that’s too high (alkaline) or too low (acidic) can make essential nutrients
less accessible to plants. For example, acidic soils may limit phosphorus uptake,
while alkaline soils can affect the availability of iron and other micronutrients. Adjusting soil

pH helps optimize crop yield and plant health.
12) You can prepare a natural pH indicator at home using red cabbage. Chop the cabbage into

small pieces and boil it in water for about 15 minutes. Strain the liquid to collect the purple juice.
This juice acts as a pH indicator, turning red in acidic solutions and greenish-yellow in alkaline

solutions. Store it in a container for future use!

13) A switch controls the flow of electric current in a circuit. When the switch is closed (turned on),
it completes the circuit, allowing current to flow and devices to operate. When the switch is open

(turned off), it breaks the circuit, stopping the current flow and turning off connected devices.

14) The heating effect of electric current occurs when electric energy is converted into heat as current
passes through a conductor. This principle is utilized in household appliances like electric irons,
toasters, and heaters, where the heat generated is used for practical purposes such as

ironing clothes or cooking food.

15) Acids are substances known for their sour taste and ability to turn blue litmus paper red. Common
examples include lemon juice, which contains citric acid, and vinegar, which has acetic acid.
In contrast, bases have a bitter taste and change red litmus paper to blue. Examples of bases are
soap, which contains sodium hydroxide, and baking soda, made of sodium bicarbonate.

These properties help distinguish acids from bases in everyday substances.



16) SWITCH

oo

i,

-
- -
\Tr
- | -

BATTERY HD

CONNECTING WIRES

Explanation of the Circuit Diagram:
This simple electric circuit includes:

1. Battery:
o Provides the electric current.
o Current flows from the positive (+) terminal.
2. Switch:
o Controls the circuit.
o When closed, the circuit is complete and current flows.
o When open, the circuit is broken and current does not flow.

o Converts electrical energy into light.
o Glows only when current flows through it.
4. Connecting Wires:
o Complete the loop, allowing current to travel between components.

How Current Flows:
o When the switch is closed, current flows from the positive terminal of the battery — through
the switch — into the bulb, making it glow — and returns to the negative terminal of the battery.

e This complete loop allows continuous current flow, which lights up the bulb.

If the switch is open, the path is broken and the bulb will not glow.

20 ) State whether the given statement is True or False:
2) b) False
3) a) True



4)  a) True
5) b) False
6) a) True
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1 | The Sundarbans are famous for: [1]
a) Hot springs
b) Volcanic activity
c) Dense mangrove forests
d) Tea plantations
2 | Which state houses the Shillong Plateau? [1]
a) Nagaland
b) Assam
c) Meghalaya
d) Manipur
3 | Which of the following hill ranges is one of the oldest in the world? [1]

a) Nilgiris
b) Western Ghats
c) Himalayas

d) Aravalli Hills

4 | What is the main occupation in the Gangetic Plains?

[1]




a) Mining
b) Tourism
c) Agriculture

d) Fishing

Which Indian coastline faces the Bay of Bengal?
a) Kathiawar

b) Malabar

c) Konkan

d) Coromandel

[1]

The Sundarbans are located in which Indian state?
a) Tripura

b) West Bengal

c) Odisha

d) Assam

[1]

Which plateau lies to the south of the Aravalli range?
a) Karnataka

b) Chotanagpur

c) Malwa

d) Deccan

[1]

Which desert is located in the northwestern part of India?
a) Sahara

b) Gobi

c) Kalahari

d) Thar Desert

[1]

Which of the following is a cold desert in India?
a) Ladakh

b) Deccan

c) Thar

d) Rann of Kutch

[1]

10

Which river is primarily responsible for forming the Gangetic Plains?

[1]




a) Narmada
b) Yamuna

c) Godavari

d) Ganga
11 | What are the two major divisions of the Peninsular Plateau? [2]
12 | Describe how the Himalayas influence the climate of India. [2]
13 | Mention two differences between the Eastern and Western Coastal Plains. | [2]
14 | Why are the Aravalli Hills important for Rajasthan? [2]
15 | Why are the Gangetic Plains considered agriculturally rich? [2]
16 | How does an anemometer help in weather prediction? [3]
17 | What challenges do meteorologists face in predicting weather? [3]
18 | What is the role of satellites in weather forecasting? [3]
19 | How does rainfall affect daily life and the environment? [3]
20 | Differentiate between weather and climate. [3]
21 | Discuss the importance of weather and its elements in our daily life. [5]
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PART —1I

1.

ThetwomajordivisionsofthePeninsularPlateauare:

i. The Central Highlands - located to the north of the Narmada River, including the Malwa Plateau and the
ChotanagpurPlateau.
ii. TheDeccanPlateau-locatedtothesouthoftheNarmadaRiver,coveringmostofsouthernIndia.

The Himalayas block cold winds from Central Asia and trap moisture-laden monsoon winds, causing heavy rainfall. They act as
anatural climatic shield for northern India.

1. Width: The Eastern Coastal Plain is broader (averaging 80-100 km wide), while the Western Coastal Plain is
narrower(averaging 50-80 km wide).

2. Rivers and Deltas: The Eastern Coastal Plain has large rivers forming extensive deltas (e.g., the Godavari and
Mahanadi),while the Western Coastal Plain has short rivers forming estuaries.

The Aravalli Hills are important for Rajasthan as they act as a climatic barrier, reducing the spread of the Thar Desert
castward. They support biodiversity, provide forest resources, and are a source of rivers like the Banas. The hills also have
historical andcultural significance.
The plains are fertile due to rich alluvial soil deposited by rivers like the Ganga, Yamuna, and Ghagra, making them ideal
forfarming.
An anemometer measures wind speed. Knowing wind speed helps in predicting storms, weather changes, and designing wind-
based infrastructure like turbines and bridges
Meteorologistsfaceseveralchallengesinpredictingweather:

i. SuddenWeatherChanges: Weathercanchangequickly,makingithardtogiveaccurateforecasts.

ii. ComplexNaturalFactors:Manyfactorslikewind, humidity,airpressure,andtemperatureinteractincomplicatedways.
iii. LimitedData:Someareas,likeoceansorremoteregions,havefewerweatherstations,reducingavailableinformation.
iv. TechnologyLimitations:Evenwithadvancedtools,modelsmaynotalwayscapturesmallorunexpectedchanges.
Satellites provide real-time images of clouds, cyclones, and moisture distribution. They help monitor global weather
patterns,enabling accurate forecasts and timely warnings.
Rainfall supports agriculture, replenishes water bodies, and maintains ecosystems. However, excessive rainfall can cause

floodsand property damage, while low rainfall may lead to drought.

Weather Climate
Referstodailyatmosphericconditions. Referstotheaverageweatherovermanyyears(25-30years).
Changesfrequently,evenwithinaday. Changesslowlyoveralongtime.
Includestemperature,rainfall,wind,etc. Describesoverallweatherpatternsofaregion.

Example: ArainydayinDelhi. Example:HotanddryclimateofRajasthan.

. Weather plays a vital role in our everyday activities. Its elements-temperature, humidity, wind, rainfall, and air pressure-

affecthow we live, work, dress, and travel.
i. Clothing: We choose our clothes based on the weather. For example, we wear warm clothes in cold weather and light clothesin
hot weather.
ii. Agriculture:Farmersdependonweatherforsowing,growing,andharvestingcrops.Rainfallandtemperaturedirectlyaffect
cropgrowth.

=

iii. Health:Suddenweatherchangescancausehealthproblemslikecolds,flu,orheatstroke.
iv. Transport and Travel: Flights, trains, and road travel can be delayed or disrupted due to bad weather like fog, storms,
orheavy rain.

v. DisasterPreparedness:Understandingweatherhelpspeoplepreparefornaturaldisasterslikecyclones,floods,ordroughts.

2/2
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